
 



 



 



 



 



 



 



  



 

 

Boundary conditions: 

1. Fixed (Dirichlet) boundary conditions: Virtual External cells with constans values 

2. 2, Zero flux (Neumann) This boundary condition usually applies to the case where 

there is no input The virutal cells have the value of the closest real cell 

3. 3, Periodic (Toroidal) We can have an infinit, periodic grid 

 

 

One-dimensional binary CA 

2^512 lehetséges kitöltési mód. -> ennyi fele szabály lehet 



2 ^8=256 rules 

 

- Universal rules (Turing complete R110)  

- Chaotic rules (Rule 86,135,149,30)  

- Pseudo -random number generators (rule 30- Mathematica) 

 



Complementation (235-40)  

Left-Right transformation (235-249) 

Left-Right Complementation(235-96)  

Vierergruppe transformation (Chua 2004) 

88 independent rules  

4 rules in every group: 4(8 - R0) 

 

CAs with input 

New complex behaviors due to input  

What is the connection between the input and the state variables? (Or is the input just another 

state variable?)  

Usually a logical function (pl.: AND, XOR)  

Constant inputs, Periodic inputs, Arbitrary inputs 

Differences between CAs and CNNs 

CNN: both input and sate are present, CA: just state, no input  

CNN: continuous states CA: discrete states 

 

Space variant template: coupling depends on the cell position, Can be used well in certain well-defined 

applications 

Space invariant template: The same A and B coupling matrices/templates are used for every cell 

Template types: 



• Excitatory: the elements in the A template are positive 

• Inhibitory: the elements in the A template are negative 

• Zero-Feedback: The elements in the A template are zeros 

• Zero-input, autonomous: the elements in the B template are zeros 

• Uncoupled: Only the middle element of the A template is not zero 

 

Connection to convolutional networks 

Both networks implement convolution+non/linearity  

Good for pattern matching 

The feed forward template implements convolution on the input. 

The cells are globally connected thanks to feedback in one layer. 

Euler method (or Runge Kutta):  

We have to approximate a function at a given time by its derivative. 

We have to define a step interval for this calculation (how frequently we have to calculate the 

derivative). 

(Nyquist-Shanon theorem: Every bounded(korlatos), periodic function x(t) can be restored perfectly 

from its observations, if the sampling frequency is at least two times higher, than the highest 

frequency in the signal.) 

Scalability: The possibility of speeding up computation:  

- Discrete system: higher frequences  

- Continuous systems: higher voltage source 

Synchronization 

Speed of convergence: We can optimize the propagation time of our operations by choosing the 

proper template 



Bizonyítsa be, hogy a CNN dinamika korlátos! 

 

 

 



 (BIZ) If A is centrally symmetric than the feedback template for the whole network (A^) is 

symmetric 

- sorfolytonosan (és az egyszerűség kedvéért a boundary condition-ről most feledkezzünk meg) 

-tegyük fel, hogy van egy NxM-es mátrixunk, 

-akkor a teljes rendszert egy (NxM)x(NxM) es nagy mátrix írja le, ami megadja,hogy melyik elem 

melyikkel van összekötve  (ebben nagy sok elem nulla lesz...) 

-igazából minden sorban csak 9 elem lesz nem nulla, mert minden elem csak 9 másikkal van 

összekötve -önmagát is beleszámolva- 

-Ha a template centrálisan szimmetrikus, akkor így néz ki: 

c d e 

b a b 

e d c 

 

a nagy A^ mátrixban: 

- a főátlóban lesznek a értékek, mert minden elem önmagával van összekötve. 

- és minden elem össze van kötve az eggyel korábbival és későbbivel b értékkel (mert sorfolytonos a 

leírás és a szomszédok pont egyel korábban/később vannak a sorban) tehát bab van mindenhol a 

főátlónál. 

-Ha N elemből állt egy sor, akkor a felette lévő elem a nagy A^ mátrixban pont N-nel van korábban, 

az alsó N-el később. ezekre d az összeköttetés a szomszédokra pedig c és d. 



 
 

 


